Mfg. by Aadvantage Panels & Fence, Inc.

MyYTCOAT

Commercial Outdoor Furniture

www.mytcoal.com

ks

32 Gallon Trash Receptacle and Accessories

Trash Receptacle Models:

RRD32-A-00-000
RRD32-B-00-000
RRD32-C-00-000
RRD32-D-00-000

Accessorie Models:

RFT32-5-00-000
RFT32-5§-01-000
RDT32-P-00-000
RDT32-5-00-000
RDT32-5-01-000

o
L T
"ﬁf*:ﬁf*:ﬁ?. '

RLN32-P-00-000 ""L‘l'-:i’;;ﬁﬁm“ {f,lz::;:}:rﬁ‘i
RIM32-S-00-000
RSM32-§-00-000




Parts, Hardware, and Suggested Tools

Unit Common Description

Units Per Model

Trash Receptacle

1

All Accessories are sold seperately

Unit Common Description

Units Per Model

Flattop or Dome Top - Steel or Dome Top - Plastic

5/16-18 x 1 1/2" tap bolt w/black xylan

5/16-18 nylock nut w/black xylan

5/16 uss flat washer w/black ox

#vc300-8 5/16" bolt size 1/2" 1g vinyl cap

Security Cable

NN N =

Unit Common Description

Units Per Model

Liner

1

Unit Common Description

Units Per Model

Inground Mount or Surface Mount

1

5/16-18 x 1 1/2" tap bolt w/black xylan

5/16-18 nylock nut w/black xylan

IS

5/16 uss flat washer w/black ox

[e]

#vc300-8 5/16" bolt size 1/2" Ig vinyl cap

S

Trash Receptacle

\

® 0O ¢ =

Bolt (HWO01)

Nut (HW02)

Washer (HW03)

Bolt Cap (HW04)

> & &

Flattop Dome Top - Plastic Dome Top - Steel

) ¢

Liner Inground Surface

S ted Tool
uggested lools Mount Mount

Open Face Wrench

Socket Wrench




Specification - Written

Trash Receptacle: Material is 3/4” #9 flattened expanded metal or 1/2” punched Steel. Bracing is 11 gauge Solid Steel. All MIG welded.

Coating: Polyethylene Thermo Palistic appied by fluidized bed to maintain even and complete coating. UV stabilized, impact resistant, mold and
mildew resistant, grafhitti resistant.

Flattop: 14 gauge Solid Formed Steel. Advantage Coating or Industry Standard Coating
Dome Top - Plastc: HD Blow Molded Polyethylene Plastic.

Dome Top - Steel: 14 gauge Formed Steel. Advantage Coating or Industry Standard Coating.
Liner: HD Ployethylene Plastic

Inground Mount: 2-3/8” Tubing with 11 gauge mounting bracket - Powder Coat Finish.
Surface Mount: 2-3/8” Tubing with 11 gauge mounting brackets - Powder Coat Finish.
Hardware: All hardware is Xylan coating black hardware for extra protection and strength

Dimension: 6 Portable Bench with Back Overall Dimension: 30” H, 22” Diametor



Specification - Drawing

1 .
020 U
D RTINS
OOOBXAANEN
DORRRXRXNINXNS
OOCCRO0NN
j OO
W OO0
\ ‘/,/" ¥ '0‘0.0“"“‘%“ XN \
\ U
""':f':'0:'o'0:‘0':’:’:’:::’:‘:“‘\‘\‘q )
N
N e
\ .0‘0"\‘\' %,
N :,:A‘ ,:’0‘0‘
A AN
RRORS ;"'v 00U ‘:’
) ‘\“‘:‘:‘0”’:\’:‘00’
KRR
AAAAN AX XN 4 VYORA f
&1999( W “$9v§%3&v??féVM%¢:L
XXX AROORR OB
OO SRR
x.l,XxXxXx Q ‘Q“ 0 ‘$ QOG0 0‘ " Q}, »
XXX QAKX
XXXXX
XXXXXX
XXXXX
XXXXXX
XXXXX
gaﬁéé{ 30 0
YOO '
XXXXX 71
XXXXXX
XXXXX
XXXXXX
XXXXX
xxﬁg&}
OO
XXXXX
XXXXXX
XXXXX .
XXXXXX ¢
XXXXX
YYYYVYY

3
o
@




Assembly Instructions

1. Trash Receptacle Comes in One Piece

2. If Top is ordered: Attached Security Cable at one in to the top using hard-
ware provided and a pre-drilled bolt hole on the top.

3. Attach the other end of the security cable to the Trash Receptacle using ei-
ther the expanded metal or punched steel and the hardware provided. Leave
enough slack in the cable to be able to remove the lid.

4. If Inground Mount or Surface Mount is ordered: Attach Mounting by lin-
ing up the bolt hole pattern on the mount to the bolt hole pattern on the bot-
tom of the Trash Receptacle and bolt together by using hardware provided.

5. Liner is one piece. Place Liner in Trash Receptacle. The Top of the liner will

rest on the lip of the Trash Receptacle.

MyTCoat does not offer installation: Recommend a professional Installer to
install bench inground



Installation Safety:

Please Follow Installation Instructions provided by Manufacturer

It is recommended that Product is installer by an experienced
installer

Product should be inspected at the time of Delivery, do not install
and damaged on defective parts or products.

All Hardware for proper assembly (not installation) is provided. Use hardware that is
included with this product.

Product Maintenance:

Maintence inspection should be performed at a minium of once a year.

Cleaning, when neccessary can be performed with warm water and most house hold clean-
ers, aviod any harsh chemicals such as paint remover and acetone. Contact Manufacture
before cleaning to dertermine if cleaning product is OK for use.

Any surface rust that may occur should be removed and repainted. Contact Manufac-
ture for touch up paint or any other recommeded paints.

Contact Manufacture for instructions on removing vandalism such as spray paint.

In the case that the MyTCoat coating is damaged, contact Manufacture for instructions
for repair.

Bolts and nuts should be check on a regular basis to maintain proper tightness.



